SHRIEE JAGANNATH TEMPLE OFFICE, PURI NOTICE INVITING TENDER

(ELECTRICAL WORKS)

Bid Identification No. 02/23-24(Elect.) Date : 06.01.2024

The OSD (Development) Shree Jagannath Temple Administration, Puri on behalf of the Shree Jagannath Temple Managing Committee, Puri invites percentage rate bid in prescribed tender schedule for the below mentioned Electrical work from the eligible Electrical contractors having HT/MV license from ELBO ,Govt of Odisha . The proof of experience of Electrical work from the appropriate authority shall be enclosed along with the bid. The bidders may submit bids for the following work.

<u>Sl.</u>	Name of the work	Estimated	Cost of bid	Security	Period of	Class of
No.		cost	document + GST (in Rs.)	Amount EMD	Completion	Electrical contractor
1	2	3	4	5	6	7
1.	Development of Nilachala Upabana of Shree Jagannath Temple Puri such as of provision decorative street light G.I post with decorative LED light.	(GST Extra)	Rs.6, 000/- + GST 18 %(In shape of D.D.)	1% of the Estimated cost	10days from the date of order	MV or above from ELBO

- 1. The tender document will be available at the Shree Jagannath Temple office, Puri from Dated 7.01.24 to Dated16.01.2024 Up to 1.00 P.M. on payment of cost of tender document which is non-refundable.
- 2. Bids are to be received in complete shape duly sealed on or before Date 16.01.24 Time 3p.m. at Shree Jagannath Temple office, Puri. The tender will be opened in presence of the bidder or their authorized representatives on the same date at 4.30p.m.
- 3. The bidder shall have to deposit 1% of the estimated cost towards EMD in shape of N.S.C/Post office saving bank account/Post office time deposit Account /Kisan Vikash Patra/Bank Guarantee from any nationalized bank in India in favour of Chief Administrator SJTA, Puri. Bid documents consisting of Plans, specifications, the schedule of quantities and the set of terms and condition of contract and other necessary documents can be seen in the website: www.jagannatha@nic.in.
- 4. The bidder or their authorized representatives are requested to attend the tender opening process at the schedule time and place to witness the opening. If the office happens to be closed on the date of opening of the bids as specified, the bids will be opened on the next working day at the same time and venue.

M

- 6. Bidders are requested to enclose their valid
 - (a) Registration certificate (License) copies self attested (b) GSTIN Certificate(c) pan card (d) List of similar type of works in hand (e) List of Electrical works completed in last 5 financial years of work value not less than 10 Lakhs under Shree Jagannath Temple Administration, Puri.
- 7. Other details can be seen in the bidding documents (DTCN).
- 8. The authority reserves the right to accept or cancel any or all bids without assigning any reason thereof.

OSD (Development) Shree Jagannath Temple, Puri

Memo No. 452 /Dt 6 - 1 24

Copy submitted to the Collector and Dy. Chief Administrator for kind information.

OSD (Development) Shree Jagannath Temple, Puri

Memo No. 453 7) /Dt 6-1-24

Copy to

- OSD (Works)/Superintending Engineer (works)/ AE Elec. / Manager Elec. / Accounts Section / Temple Supervisor /Temple commander SJTA, Puri for information and necessary action.
- Public Relation Officer, SJTA for information. He is requested to arrange for
 Publication of the Notice on news paper in one Odia daily and one local English daily.
- 3) Computer Programmer, SJTA for information. He is requested to upload the Detail Tender Call Notice (DTCN) in temple web site for wide publication.

OSD (Development) Shree Jagannath Temple, Puri

Terms and Conditions

- 1. The rates should be quoted in words and figures and in case of discrepancy with words & figures, the word shall prevail.
- 2. Supplier will be responsible for payment of all other taxes as per Government norms.
- The quotationer has to furnish attested true copy of contractor's license /Trade license for reputed brand, GST clearance certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. The Supplier should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 5. In case of backing out any by any Supplier, the EMD deposited along with the tender will be forfeited.
- 6. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Odisha it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha..
- 7. Subletting of the contract/ Supply order is not allowed.
- 8. Every supplier is required to produce respective sample for the items for which supplier has participated in quotation.
- 9. Conditional tender is liable for rejection.
- 10. Letter etc. found in the tender document for raising or lowering of the rates in connection with the tender will not be considered.
- 11. The supplier or his authorized agent is to be present at the time of opening as mentioned in quotation call notice.
- 12. Under no circumstance interest is chargeable for dues payable if any for the work to the supplier.
- 13. The supplier is to supply the materials within one month of issue of supply order.
- **14.** If the materials found defect within one year period, the supplier will replace the same at his own cost fully.

Signature of Contractor

Superintending Engineer

Signature of Employer

BOQ of the work"Development of Nilachala Upabana of Shree Jagannath Temple Puri with vision of decorative street light post with decorative LED light "

SL No	Description	QTY.	UNIT	RATE	AMOUNT
1	Supplying and fixing double arm galavanized iron pole (12' height ,2'' dia) for External with required with				
	monkey protection as per direction of Enggin-Charge		Nos	17500.00	
	(Make: Crompton /Bajaj /Philips or equievalant reputed	35			612500.00
	make & model A catagory ISI marked as	33			
	approved.)The luminaire should be Replacement				
	Warranty of 2years including transportation ,loading				
	unloading.				
2	Supply & fixing of two nos 35 watt LED light , 4000 K (IP				
	66) in each pole .Make: Crompton /Bajaj /Philips or	70	Nos	2200.00	154000.00
	equievalant reputed make & model A catagory ISI marked				
	as approved.				
3	Supply of 6sq mm x4core copper armored cable .Make-	342	mtr	449.00	153558.00
	Poly cab/Finolex /KEI.				
4	Supply and laying of HDPE pipe 25/30 mm dia duly by	360	mtr	95.00	34200.00
	exavated the soil of 1' & refilling.				
5	Supply of 1.5sq mm x 3 core copper cord wire each pole 5	175	Mtr	58.00	10150.00
-	mtr .Make- Poly cab/Finolex /KEI.				
6	SITC of 63 amp 4 pole MCB (2nos) as incomer with				
	outgoing 63 Amp DP MCB 4 nos with 35 nos 6 Amp SP	1	Set	21500.00	21500.00
	MCB .(Rs.1898 x2 nos+Rs.540 x4 +Rs.264 x35+2000)				
	with complete set. With old panel renovation.				
7	Make-Legrand/Havells. Dismanteling & removing brick masonary in cement				
,	mortar including stacking the useful materials for reuse &				
	removing the debris clear of the suite etcComplete as				
	per direction of the Engineer in charge .(35 x1'3" x 1'3" x				
	13" =68.359cft).	1.94	CUM	1228.00	2382.32
8	Supply & fixing of 12mm thick khandolite tiles on 25mm	1.7.	00.11	1220.00	
Ü	thick bed (1:1) C.M jointed with cement sulry with				
	pigment to match the shade of the tiles with rubbing &				
	polishing including cost of tiles & all labour charges etc.				
	complete as per direction of Engineer -in -charge				
	complete as per un cetton of Engineer in charge	150	sqft	160.00	24000.00
9	Supply & fixing of 4" x4" size modular G.I junction box				
	with mid gate connecter.	35	Pcs	225.00	7875.00
10	Sundrieses like cable tie,SS nut bolt & saddle bolt pvc				
	tape.	1	Job	7000.00	7000.00
11	Providing cement concrete (1:2:4) using 12 mm size C.B				
	chips including all cost ,carriage ,royalty ,additional				
	charges ,DMF & EMF ,curing etc complete as per direction				
	of concrete pedestal block of size 1'x1'x1'6" 7 other				
	repair work.	3	CUM	8491.37	25474.11
12	After cutting the khandalite store for fixing of path light				
	making finishing with cement etc. 35nos size 7" x 4" all				
	corner @350 / each box	35	Job	350.00	12250.00
				Total	12,65,764.00

Contractor Signature

OSD (Development) Shree Jagannath Temple ,Puri